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Question Number : 1 Question Id : 682470154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
A successful teacher is one who 1s
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Options :

Compassionate and disciplinarian.

Q) Hcho, [EhdZmneoTt
682470601.

Quite and reactive.

TR0 DCC [BER)0L0DTm
682470602.

Tolerant and dominating.
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682470603.



Passive and active.

[2& D00 HBBERONOTTE
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Question Number : 2 Question Id : 682470155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As per modern concept of teaching/learning process which of the following statements is most
appropriate?

Options

Teachers can teach students to gain knowledge.

DIRe PEND edrgrdines FFrosion.
682470605. .

Teachers help can create in a student a desire to learm.

DETHOE" OLLROTET ¢ é;%_h".: BOHOE sargEaine SEBEries
682470606.

Lecture Method can be used for developing thinking.

oS H08 &SR DL &B3TENoTHNY
682470607.

Teachers are born as teaching is an art.
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Question Number : 3 Question Id : 682470156 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

If majority of students i your class are slow in gra sp'mg as a teacher you should
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Options :

Not care about the intelligent students

Hepiod T Dorrhiods $8oDHE
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6824706009.
Keep your speed of teaching fast so that students comprehension level may increase
e OSPFIEaDd 203 difore D BGT IeY) Dod.
682470610. '
Keep vour teaching slow
Q SR e FHIRNOSEO
682470611.
Keep your teaching slow along with some extra guidance to bright pupils
AR AT RAAre FIRNEE (B8N0 HTN &m;{ga:*:‘b LIW) é:‘-@tﬂé@:éé;o g9\oxitio.
682470612. '

Question Number : 4 Question Id : 682470157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a student in your class stutters as a teacher you should
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Options :

682470613.



Help him/her by supplying the words he/she wants to say.
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Have him take part in all the oral activities of the class.
SRS 705 Hmroedd® TR SRR

682470614.
Give him word drill on the words on which he stutters.
S8 HIT JHoros FRES Jonarsd
682470615.
Provide situations in which his/her sense of self worth 1s built up.
T E“c:zfca o055 Dofrolod & ST Sed SO\ .
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Question Number : 5 Question Id : 682470158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher’s major contribution towards the self-realization of the student is affected through:
w'ﬂ S ) HOPPHED B obossod® ST 50 Adore FHirddo 3808,

Options:

Constant fulfillment of the students’ needs

D8 waRdTron Aosto e.aé &o
682470617. s 4

Strict control of class-room activities

SBNE e SERorr AdboGodto
682470618.

682470619.



Sensitivity to students’ needs, goals and purposes
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Strict reinforcement of academic standards
QT (Hrerod pHSorr HiIGedo IohEo
682470620.

Question Number : 6 Question Id : 682470159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a characteristic of scientific research?
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Options:
Empirical
WS
682470621.
Theoretical
NCPO&E
682470622. ‘F
Experimental
DEFTE)S
682470623.
Popular belief
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=
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Sub-Section Number : 2



Sub-Section Id : 68247014

Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 682470160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Research can be classified as:
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Options:

Basic. Applied and Action Research

PSS, ©0B0E DOk Soyd)s $08%S
682470625.

Quantitative and Qualitative Research

S0 3 000 I’i}:ﬁ"'é&u mu‘aiﬁm'b:'
682470626.

Philosophical, Historical, Swrvey and Experimental Research

HE, Son " SO BRFrE)S 50385 5en
682470627.

682470628.

Sub-Section Number : 3
Sub-Section Id : 68247015

Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 682470161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A research paper

w, -
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Options :

1s a compilation of information on a topic.

2.8 odirl8 Sonofods Jarord Soleno
682470629.

contains original researc 11 as deemed by the author.

HOSEDE PoHHBS a0 -$eFEToTe IFED o
682470630.

contains peer-reviewed original research or evaluation of research conducted by others.

Rt 50855 $om0Gods wowe B5 ndke HeSEToTe Mremosio
682470631.

can be published in more than one journal.
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682470632.

Question Number : 9 Question Id : 682470162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Selection or manipulﬂtiou of variables 1s always a part of
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Historical research

FOEES HOTES
682470633. !

Fundamental research

ca2a70634, B PERE I

Descriptive research
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Experumental research
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Question Number : 10 Question Id : 682470163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which techmque is generally followed in sampling when the population is finite?
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Options :
Area Sampling Technique
lalesrill ol Ealeshiale
682470637.
Purposive Sampling Technique
STLTES (HESDR0
682470638. i

682470639.



Systematic Sampling Technique

S35
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Quota samplng

i =
682470640.
Sub-Section Number : 4
Sub-Section Id : 68247016
Question Shuffling Allowed : No

Question Id : 682470164 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 fto 15:

There is arise of terrorist activities in different parts of the world. The terrorists believe in the power of the
gun and want to achieve their objects overnight. While some of these groups are fighting for control over
some pieces of land. others are fighting for spreading their own ideology or religious philosophies. They
choose to defy public opinion and refuse to see the reason. They think that their own view point or stand
is the only right view point or stand. and that they have a right to convert other people to their thinking by
force. For this avowed purpose they do not hesitate to commit the worst of crimes including murder of
innocent citizens, looting or burning property, kidnapping people, hijacking planes and creating terror in
one way or the other.

A group of Al- Qaeda terrorists. guided and supported by the Taliban leader Osama Bin Laden based in
Afghanistan. struck terror in the USA in a big way. They hijacked four US planes from some US civilian
airports. While one of these planes hit against the US headquarters in Pentagon. another two planes
brought down the towering World Trade Centre. killing at least 5000 innocent US citizens.

USA swung into action and ordered its air force to attack Afghanistan and bring the terrorists to book. In
amassive attack. the Talibans were defeated and destroyed. Similarly America attacked Iraq as President
Saddam Hussain himself appeared to be a big terror. Iraq was badly damaged.
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Sub questions

Question Number : 11 Question Id : 682470165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



According to the paragraph. what do the terrorists trust in?

PGP0 (Porr &i@artien H DERTH?

Options :
Power of barrel
e e <8
682470641.
Killing innocent people
@ardDs (Pae JSodeo
682470642.
Create violence without a cause
Se8te0 Bome Srodid {losto
682470643.
Occupying some places of other counties
% ;,ﬁq* ;EF\.-\. — ey E: R
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Question Number : 12 Question Id : 682470166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The terrorists belive in one of the following:
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Options :
Honour public opinion
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682470645.

682470646.



Challenge public opinion
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Go with public opinion
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Mould public opimnion

Berd@eairy) Srgeo
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Question Number : 13 Question Id : 682470167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Select the correct answer from the followimng sentences: Terrorists commit crimes of
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Options :
Murder and kiduappiug celebrities
Sdvgoe FE; 0w Smmm
682470649.
Kidnapping politicians, murder of police and beating rich people
2dah mahHen, PVhe T, FISoHO o
682470650.

Murder of mnocent citizens. burning propeity. kidnapping people and hijacking planes.
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Burning buses and murder of the police
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Question Number : 14 Question Id : 682470168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who attacked Iraq and why?

zorSD A5 oD o Ted?

Options :

US air force attacked Iraq as President Ahmad Hassan 15 an enemy of Americans.
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682470653.

America attacked Iraq to destroy the country and kill many innocents in Iraq

OO 25D & IR, 2B5E° 0 Dol LIrEDHeDH 0BT
682470654,

Pakistan attacked Iraq as Iraq attacked Pakistan more than four times

2o°8 bR PSR 8 TR00, ©othEd AT soeEp é Tol
682470655.

America attacked Iraq as President Saddam became a dangerous man.

OETH Voo PErusEDS e ool oz aoesp wd TRol.
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Question Number : 15 Question Id : 682470169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Two of the following things are not co-related to the episode of US planes hijacking. Find them out,
& Doth Dactrod® s0m Jirre Trerdol Qs SRS Sirdonotiin Bib. 8D S50k,
L Al Qaeda terrorists

of T dEmthe
. World Trade Organization
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w5000 people were dead

5000 ool [Haen SbdomFth.

Options :
1and i
150005 1
682470657.
nandiv
1139005 1v
682470658.
vand vi
V a00a Vi
682470659,
i and vi
111 50850 Vi
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Sub-Section Number : 5

Sub-Section Id : 68247017



Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 682470170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find out which one of the following elements is not important in non-verbal communication?
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Options:
The body language of the speaker
38 TwE) FD raren (b o)
682470661.
The eye contact of the speaker
8 Tog) Sod rHen
682470662. = =
The volume of the speaker
58 ) rrow
682470663. ;
The facial expressions of the speaker
208 @z dop 55850
i €
682470664.

Question Number : 17 Question Id : 682470171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which one of the following contexts refer to the background smularity between the
sender and the receiver?
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Options :
Cultural
B0l 88
682470665. o
Physical
Selets]
682470666.
Social
PaTee S
682470667.
Chronological
SPeRr0|B5a0
682470668.

Question Number : 18 Question Id : 682470172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A teacher should be effective in asking questions. He should ask
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Options :
Thought provoking questions
edfS5S5en T3&0T (Hden
682470669. o\ S

682470670.



Meaningful questions
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As many questious as possible
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Confusing questions

ESDEDE (HHeo
682470672. =- =

Question Number : 19 Question Id : 682470173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The term ‘media’ comes from the plural of
‘D& od S &3 DF0SS0 Dol FEod
Options:
Greek Medium
E'; V50 g.‘-ﬁ&Cﬁ.’JD
682470673.
French ...... Media
oS Sodawo
682470674.
Latin ....... Medium
=T Sdavo
682470675.

682470676.



German...... Medium
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Question Number : 20 Question Id : 682470174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Rearrange the following steps n the process of interpersonal communication:
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A Message
Kot

B. Encoding
RS8R

. Recewver

™
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D. Decoding
&5*of

E. Sender

The right answer according to the code 1s
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Options:



5261374

682470677.
5216437
682470678.
£126347
682470679. ~ 12634’
5216347
682470680.
Sub-Section Number : 6
Sub-Section Id : 68247018
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 682470175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The mcomes of A and B are in the ratio of 3:4 and their expenditures are i the ratio 4:3.
If B saves one third of his income, the ratio of their savings is
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Options :
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682470684.

Question Number : 22 Question Id : 682470176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ started a business with Rs. 25.000 and after 4 months B joined him with Rs. 60,000,

‘A’ received Rs. 38.000/- mcluding 10% of the profits as commission for managing the

busimess. What amount did B receive (in Rs.)?
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Options :

25.000
682470685.

-q
682470686. - &, (1D

79
682470687. Ll

682470688. LA

Question Number : 23 Question Id : 682470177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Two trams of lengths 700 m and 800 m are running on paralle] tracks towards each other.
What 15 the distance travelled by the two trains together (in meters) from the time they
start to cross each other to the time thus completely cross each other.

H88750 NATOSESNTRD) HEFO R HGTSN) Fodk B TR0E;, e 700 ab.
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Options:

q
6824706809. Lank

682470690. L3

682470691. Lo

100
682470692.

Question Number : 24 Question Id : 682470178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
‘AMOUNT’ 15 coded as ‘ZNLFMG’. Then the code for ‘ORANGE’ 1s

'AMOUNT' 'ZNLEMG' T 56 Doha&od. @dpch 'ORANGE o 8§56
Options :

LIZMTH
682470693.

LIZMTF
682470694.



LIZMTV
682470695.

LHZMTF
682470696.

Question Number : 25 Question Id : 682470179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Missing group of letters in the following sequence is
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WXCD, UVEF, . QRIJ, OPKL

Options :

682470697. i

BBZ
682470698. Q

682470699.

STGH
682470700.

Question Number : 26 Question Id : 682470180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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The missing number 1n the sequence: 5. 13. 25, 41, 61.

0DEN0S SHoDS Hows: 3, 13, 25, 41, 61,

Options :

682470701. .

682470702, 52

682470703. o

99
682470704.
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Statements:  All girls are good.

Some women are good
arEianen: @0l ardEen JHowWardD.

N0V FodD Dearen
Conclusions: I. Some women are girls.
II. No women 1s a girl.
S0A0Y): L Fodd arden ardiewn.
II. o) Dars S ardE =N

Options :
I and II are true
08050 I 2a3p
682470705.

I 1s true and II is false

[ 2,59 000 I &5v
682470706, = W o



I 1s false and II 1s true

5 aOCD IT 2y
682470707.

I and IT are false

[ 0850 I éé@)ﬁ
682470708.
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The odd one among the following is

BoOTAS &)

) 28 V0P Do
Options :

682470709, 1/

682470710. ='

682470711.

—
|

4
682470712.
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The following Venn diagram represents the number of students opted for various subjects
of skill enhancement courses offered by the three Departments; Mathematics. Physics and
Chemustry. The total number of students 1s

Qe ARV EL RN NN o\ WIR e TndeWIN G RV VWIS IV I W e VI EA R N TSV ToTmToT WY
2R NS D Tz K DosPOAOH FEIOD otHHIN) TN HOYEOD

808 IS Qe AFDOHD. ©oNS JNSain AT HOW?

Options :

682470713.

183
682470714.

F—
Lh
-2

682470715.

682470716.
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C 15 the brother of D. A 1s the husband of B. B 1s the mother of C. E 1s the wife of D.
How B is related to E.

C, D 3wy FS&HW. A, B TEy, 2, B, € Bg) 0. E D Bwg) 278z BEE & Ko
RO20

Options :

Mother

PE'E}
682470717. 5

Father

505
682470718. i

Mother in law

eoed
682470719. =

Father in law
682470720, ©30°6)
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Note: The questions Q. 31 to Q. 35 are based on the following information:

.q

HeE: 99160 Q.31 :b0d Q.35 505, 308 Narrdo SO0 dr) o

The total expenditure mcurred by a management training institute in vears 2014-15 1s Rs.
25.0 lakhs and 2015-16 1s Rs. 32.0 Lakhs. The percentage of expenditure incurred in the

two financial years: 2014-15 and 2013-16 are presented in the following table.

2014-156 DB carer 38 e H0Y) ( Management training institute ) G305, B0 H:aH0
&r. 25.0 ©5 €0 005 2015-16 OF. 32.0 ©F 0. Toch 808 D0aeh @“’55 ID)0T FTe0: 2014-

15 508050 2015-16 6 Bod HEES’ DB 00T

S No Expenditure Particulars 2014-15 | 2015-16
ENOROMN IV

1 | Faculty (are59) 250% | 27.0%

2 | Advertising ( (8exden) 200%. | 15.0%

3 | Material preparation (R636cH6 aird) | 100% | 7.0%

4 | Printing (0(569) 250% | 20.0 %
5 | Admumistration (H8zrea) 75% | 8.0%
6 | Salaries (Jebedanen) 50% | 80%
7 | Others ( @eddamen) 7.5% | 15.0%

Sub questions
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In the two years, total expenditure incurred towards salaries (in lakhs) is

Bod Hoss oo, et TOomd 1 o H:000 @F o)
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1:25
682470721.

682470722,

682470723.

682470724.
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In the year 2014-15. the total expenditure incurred towards faculty and material

preparation (in lakhs) 1s

2014-15 0058508, @TEHHIOH HOD DEOHS S0irds H020H0ND Fndo

53000 (@ oS

Options :

73
682470725.

3
682470726, 027

682470727. 804

2.5
682470728.
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The expenditure increased towards administration m 2015-16 when compared with 2014-
15 15 (in lakhs)

2014-1568 618 20151665 HBFOD § DOAK H:000 (©F )

Options :

I
(%
e

682470729.

682470730.

682470731.

0.685
682470732.
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In the two vears. total expenditure incurred towards Advertisement and Administration

(in lakhs) 15

& Both e’ao;’wfﬂagpi’f 1995665 9805 HBFeS (©F ) § 5020800 TS0 H:0H0

Options :

8.55
682470733.



o
682470734, 19-323

1.235
682470735. 14.235

4.4:
682470736.
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In 2015-16. the total expenditure incurred towards printing (in lakhs) 1s

2015-16 &, 01569 £ HODOBODS DNBO $:090 (©F S

Options:

682470737. 8.64

6.40
682470738.

4.80
682470739.

| o]
_n
ol

682470740.
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Who invented modern Computer science?

., - - o -
eGOAS SoFel TR S0 da?
ot} — [=%

Options :
Charles Babbage
*0n PIE
682470741.
Allen Tirng
682470742, ©OTE00R
Simur Cray
R0
682470743.
Augusta Adaming
e ool
682470744.

Question Number : 37 Question Id : 682470192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The output quality of a printer 1s measured by

=

208 03¢ HE Tred Fed?

Options :

682470745.



Dots per square cm

o) $8 28 Dodnes

Dots per sq. inch

oed) H56 218 vod
682470746.

Dots per inch

ooed) B8 mod
682470747.

dots per cm

ooeh) 58 Dodines
682470748. ™
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First page of Website 1s termed as.

DTRET TS ek
Options :

Homepage

gih
ﬂ?"i

= =
SRR

=

682470749.

Index

U

682470750.

682470751.



JAVA script

oL we)
Bookmark
eSS0
682470752. -
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VOIP stands for..........
VOIP edre
Options:
Virtual old IP

8 StnHS IP
682470753. =

Video over IP

S

seonR £.358 IP

682470754,
Voice over I[P
HER> 255 IP
682470755.

Virtual over IP

SENHS £.358 IP
682470756. &
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Which of the followmg is purely Indian higher education portal

Bol &HS® DO vodair NS Doy Y.

Options :

682470757. NETEL

682470758. WIZIQ

Openz study
682470759.

edX
682470760.
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The Protected areas, National parks, Wila libe Sanctuaries and Biosphere Reserves are the Ex-

amples of...

]

PEah eTRdTe, SErd Sobgn Sore, ddtn Juw Jod 688 (@ome B
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Options :

682470761.

682470762.

682470763.

682470764.
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Ex-site conservation

S -Ren Slelelsl

In-situ conservation

M-l NoBsm

fartd,,

10

Cybemetic Conservation

R dS JSobEm

Leibig’s Conservation

rcl

E&ﬁ& Nosse

ey

Correct Marks : 2 Wrong Marks : 0

Set binding targetsfor mdustrialized Nations to reduce emussions by 5% agamst 1990 levels overa

perioud 0f 2008-2012. This was proposed in

2008-2012 S ecprod 1990 on o8 5 o EowS el ol oS

ol o - e o £ o=t
Fod AeoTod (H8rED & SrIdd” .

Options :

682470765.

682470766.

Rio de Janeiro. Brazil, 1992

oTr8ad8, Bad, 1992



Stock holm. Sweden. 1972

nﬁ;ETz‘Jﬂrto. S, 1972

8 opraﬂlagen._ Denmark. 2009

DTFAT, BB, 2009
682470767.

Kyoto Protocol. Japan. 1997

5%¢5 (@F¢° =5, aeS, 1997

682470768.
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In september, 1994 (UN Conference) Some 15.000 leaders and representatives from 179 Na-

tions and nearly 1.000 NGOs met in Cairo. Egypt to discuss the problem related to

1994 'amoao@ DTS Bgod® 179 Gwo 15 Jo dob FahHen, ird Jow

BehB 86 & Roge éna“’% 45 36°¢ IR & 588D S0 10T,
Options :

Poverty and population

- - i
20080, =P

6824707609.

Carbon Emissions

érﬁ“ o ﬁm;mea
682470770. '

Resource Management

682470771.



Social Modemization

KEres ohdissno
682470772.
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Inwhich conference 1690 Nations agreed toroll back CO,. methane and nitrous oxide emissions

about 5 percent below 1990 levels by 20127

201

[
160 30 & $5r3¥08° eofisbomron?

I_\.':l

88 1990 Fawd 5 o s CO,, HFS, LD 6F)f 6o SHons el

Options:
Earth Summnit
GO@ 65K
682470773.
Copenhagen Conference
SRSHNRS Sarado
682470774.
Kyoto Protocol
5red ([@Pedsed
682470775.

Stockholm Conference

682470776.
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Which quality parameter represents the organic load in the water reservior?

?y

08 O *”‘*ou PoBds gmﬂrﬁnﬁﬁé"“ 2V aiye eplels
Options :
Chemical Oxygen Demand

EFa0S wbud 8srof
682470777.

682470778.

Conductivity

=fe) &

£,
e
£y

682470779.

Biological Oxygen Demand

682470780.
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Who among the following was the founder of Gurukul system of education i India?

tRBEA5 B0 et PHHen QN%?
ve e g

Options :
Rabmdranath Tagore
5o B8 ooiie8
682470781.
Swami Vivekananda
F o DIse0l
682470782. =
Jiddu Krishna Murthy
&9 B0
682470783. )
Mahatma Gandlu
SSemrrol
682470784. e

Question Number : 47 Question Id : 682470202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘Which of the following 1s not the goal of higher education in India?

PEEGIS® &8 dumy o0 A0 HQ?

Options
Accessibility
682470785, £OPITER

Quality and Excellence

reand DO (Fralrdsd

o

682470786.



Value based Education

DenSed® 5RES D
682470787. =

Compulsory and free education

&8 o8 D
682470788. e =
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The University which telecasts inferactive educational programmes through its own channel 1s:
RrPod B0QuR I8 e AT, YEEFOD @ocﬁﬁ@@ D ITOEhn

Options :
B. R. Ambedkar Open University, Hyderabad
i 8. 68, ©0oBE)8 FE8E DETedho, TET .
682470789. - E
I.GN.O.U.
B00TPOg & 8BS DI DTedho
682470790. -
University of Pune
682470791, T 00 DEITZOIO

Amnamalai Umiversity

"ﬂ*‘*@ 2 Sﬂamﬁ"bcﬁ,o
682470792.



Question Number : 49 Question Id : 682470204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Value education makes a student:

rd ol = vl
== al 2l &, 1=
aTer e a.am“ﬁga:m Zer SBO\GEORD
- - L

=
- -

Options :

Good citizen

&&Sshardeorr
682470793. -~

Successful businessman

DedhHoHBI TErsIgenrT
682470794.

Popular teacher

Erotrone earEEdineT

- -

682470795.

Efficient manager

B8gnie dhasirdere
682470796.
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Which of the following body 1s meant for co-operation and co-ordimation between the union and
states in the field of education?

Options :



NCERT

& Do HOFGT 0w $80 Jdox - NCERT
682470797. = "

NCTE

r&aD, saPEch duEy os®d - NCTE
682470798.

UGC

DErDTredire DHe Sod - UGC

= - -

682470799.

CABE

Sobud Doy Ik Jog - CABE
682470800. -
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The partial differential equation

Au 2+ FPu L5
rjj_,n' dx? 2

1s an example of
Options :

a third order linear partial differential equation.
682470801.

a third order quasi-linear partial differential equation which 1s NOT linear.
682470802.



a second order linear partial differential equation.
682470803.

a second order quasi-linear partial differential equation which 1s NOT linear.
682470804.
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Leté(z,y) = 2r.7(z, y) = tan™" y. Inthe (£, 7) coordinate system, the partial differential

equation
a2 2
d-u 22 0“U
e ‘I‘ i’ no U
dr? ( Y ) dy?
transforms nto ; 5 .
ou Ou .,  Ou

A— + — + h(n)-
a2 on? Y on

where h(n) is given by

Options :

cos? 7
682470805.

—Jgap?
682470806, - o= I

2tan7n
682470807.

—4 tann
682470808.
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Let S be the set of all solutions to the partial differential equation

58: i 0z i
ot dy

having the property that the corresponding mntegral surface 2 = u(z, y) contamns the curve
[' described parametrically by

[xp=5% yo=2s,20=5, s€(2,3).
Then the set S 1s

Options :

682470809, A SMPLY set.

682470810, ° singleton set.

a countably infinite set.
682470811.

an uncountable set.
682470812.
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Let u(x, t) denote the solution of the Cauchy problem given by

. Ju
E_E=1 rcR.t >0
u(x,0) = 1+ 22, reR

Then u (lé) 18

Options :

5
682470813.

n

"
682470814. ~

L)

682470815.

682470816, "
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Let u(z,t) be a twice continuously differentiable function defined for (z,t) € R x (0, 00)
and 1s the solution fo the partial differential equation

5 B 9%
o o2

o A% 2 L 1%, 1 1 5
if U(EE) =3 U(EE) =2, u([). E) = gthen u(l.g) is equal to

Options :

U TEN

682470817.



Lo o

682470818.

682470819, 2

L] =1

682470820.
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Letu: R x (0,00) — R be the solution to the 1nitial value problem

92 o2
s lGi;;.;r ER,E>0),
ug(2,0) =0,z €R
0 oo < o<l
andu(z,0) = ¢’z - 1)* 0<z <],
0 l e,

If S denotes the set {a > 0: u(10,t) = 0 forall t > o}, then the infimum of the set S is

Options:
0
682470821, 16
D
682470822, &
0
1

682470823.



B2

682470824.
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Let u(r, f) be a harmonic function defined on R2. If u(/2. f) 1s given by 3cos(26) + 7
(in polar coordinates). then the value of u at the origin 1s

Options :
682470825.
21,-@?
682470826.
ik :3
682470827. T
P2
682470828.
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If the interpolating polynonual for the data:

=
[—
= 2
[—y

%

is1 - aﬂ-r = 1)+ ET[I —1)(z —2) +cx(z — 1)(z — 2)(z — 3) for some c € R, then

¢1is given by
Options :

682470829, 1

2] —

682470830.

682470831, Y

1

2
682470832, ~
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T T ;
Let o be a nonzero real number such that o € (——. —). Newton-Raphson method 15

applied to find the solution of sinz = 0. If the iterative sequence (z,,) obtained by using

this method with « as the initial guess i.e.. 7o = a satisfies. for k € I,

A=Tg=1I3=...=Top = Tgpsg =... and

Iy =2T3=...= Tok41 = Tkt3 = - -
then which one of the following equations is satisfied by a?

Options :

am = 2tan o
682470833.



¥ = tan o

682470834.

200 = tan o
682470835.

am = 4 tan o
682470836.
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The values of a function f are as follows:

1.25

I:5

1.75

f(z)

10

| =2

-
!

6

Using all the tabulated values, the approximate value of the mtegral

by the composite Trapezoidal rule 1s
Options:

682470837, /U833

-
682470838.

682470839, /-1606

-~
h

682470840.
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/ flz)dx 1s given
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TR : 1 b
Dimension of the vector subspace W = (L d) grb=0e bFe=d. e Fa=}
of M5(C) 1s
Options :
682470841. 1
:
682470842, ~
682470843,
4
682470844,
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Let A € My,5(R) be a4 x 5 matrix of rank 3. with entries from R. and let A* denote the
transpose matrix of A. Rank of A'A is:

Options:

682470845.

A

682470846.

L)

682470847.



.
682470848,
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Let A, B € Myys(R) be a4 x 4 matrices with entries from real numbers. Then which of

the following statements 1s true?
Options :
682470849, Tank(A + B) = rank(A) + rank(B)

682470850, TAk(AB) = rank(A) rank(5)

682470851. rank(AB) < min {1131111{-"'1]. rank( B J}

rank(A + B) = min{rank(A), rank(B)}
682470852.
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LetT: R* — R®be alinear transformation, givenby T (zy, 3, 73) := (23,73, 21). Then,
which of the following statements is true (where [ denotes Identity matrix)?

Options :

682470853, Get(l) =1



3
682470854, rm=1

682470855. T has three distinct eigenvalues

Smallest n € ¥ such that T™ = [ 1s even.
682470856.
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Let A1, A be two distinct eigen values of a 2 x 2 matrix with complex entries. Then which
of the following statements is true?

Options :

682470857 A< has distinct eigen values

682470858. tr(A") = AT+ AJ foralln € N

K 2 = e
682470850, (A7) = Aids

There exists a A € C such that A" = Al for some n € N. where [ denotes the

682470860.ldEHUU?HmUJX
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A group of mn people are to be arranged into m—teams with each n—players. If teams
do not have names, the number of ways in which it could be done 1s

Options :

(1)
(r!)™m]!
682470861.

(m n.)
n
682470862.

682470863.

T
(?) - 71 1
682470864.

Question Number : 67 Question Id : 682470222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Let (¢ denote the group G Lo(Z/(3Z)). which 1s the group of 2 x 2 matrices with entries
from the group Z/(3Z). What is the order of G?

Options :

682470865. L

L

682470866. o



682470867. 4

A
N

682470868.
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Number of subgroups of Z/(9Z) x Z/(4Z) other than trivial subgroup and the group itself is

Options:
0
682470869.
2
682470870. ~
7
682470871. '
9
682470872.
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Number of simple groups of order 27 1s

Options:

682470873. .



|

682470874.

682470875.

682470876. -
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Let (+ be a simple group of order 132. Number of subgroups of order 11 is

Options:

4]

682470877.

682470878.

L)

682470879.

682470880.
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Let F := Z/(2Z). Number of elements in the ring mF [X] / (X? + 1) is
Options :

682470881.

-2

682470882.

682470883.

682470884.
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Number of units in the ring Z/(87Z) is

Options :

682470885.

682470886.

L)

682470887.

682470888.
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Lirr3

Which of the following elements is not irreducible in the ring Z (X, Y|?

Options :

682470889 X FX2 40X
¥Yi X

682470890. 4
2 _ Y3

682470891. Y X
5 4

682470892. Y X
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Consider the following four sets.

Si = The set of all maps from {0, 1} to M.
Sy = The set of all maps from Q to {0, 1}.
S3 = The set of all continuous maps from R to {0, 1}.
Sy = The set of all maps from {0, 1} to R.

Which of the followig statements 1s true?
Options :
There exists a bijection between S; and S;

682470893.

There exists a byjection between S; and 5,
682470894. .



= : . R ; o ,;_'"Iv_j - g,
632470895, There exists a bijection between S5 and 55

There exists a bijection between S5 and S,
682470896. :
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Let k > 0and fi(t) = 0 s t ’ 0

Let A = {k € [0,00) | fi 1s differentiable}. Then inf(A) =

Options :

682470897.

I3

682470898.

682470899.

682470900.
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Foramap f : R — R define

. . 1 1
W;(z) = sup { |f(u) — f(v)]: w,v € [.1‘ — T - —_] }
; J J
Ajn(X) = {;r e R: W(z) < —} ,neN jeN, and
n
C' = {z € R: f is continuous at x}.
Then which of the following statements 1s false?

Options :
eg2470001. Vil%) = Wisi(z),Vz €R,j €N
682470902 Ajn € Ajrim,VneEN,jEN
682470903, Ajn(z) C Ajpr,VneN jeEN
oo oo
e m ( d.-;j.”)
682470904. SO
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Which of the following sequences of functions is uniformly convergent?
Options:

Ja(z) = cos™(z), over ((]. E}
682470905, 2

.f?t['—r_] =
682470906.
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682470907.

632470908 Jnl(z) = 7™ cos(nz). over (0, oo
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(51

) | ) kw
lim — E sin
n—oo N Tl

k=1

Options:

1s equal to —
6824709009. U

n')
. 1s equal to —
682470910. "

15 equal to —

682470911. "

doesnot exist
682470912.
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Let m(E) denote the Lebesgue measureable subset F of R. Then which of the following
statements s true?

Options :

682470913, Lhere exists an open set U containing () such that m(U) < 1

682470914.

682470915. If F is measurable and uncountable then m(£E) > 0

682470916.

There exists an open set [/ containing [ — () such that m(U7) < 1

If F 1s measurable and m(F') > 0 then every subset of I is measurable
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Let f, : B = [0, 00| be measurable for every n € N. Then which of the following
statements 1s always true?

Options :

[ lim f,(x)dxr = Lm [ Fale) da
. n—oo n— o0 ol
®

R

682470917.

[ im fu@)de < tim [ f(@)ds
i—+ 00 T—F OO o

682470918. ®

If f, decreases to [ then / lim f.(z)dz = lim / Julz) d:
. i—+ 00 i—+00
682470919. R



TE—+ 00 n—o0

If f, increases to f theu/ lim f,(r)dr = lim /fn[;rj dx

I

682470920.
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The functions f : R? — R is given by

.

Y .
== () = A0.0)
flz,y) = = +y»
0 (z,y) = (0,0)
Options:
682470921, discontinuous at (0, 0) but both f,.(0,0) and f,(0,0) exist
682470922, discontinuous at (0, 0) and only one of f,(0,0) and f,(0,0) exists
continuous at (0, 0) but neither f,(0,0) nor f,(0.0) exists
682470923.
continuous at (0, 0) but f,(0,0) and f,(0,0) exist
682470924.
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Assume that f : R* — R? is given by
flz,y,z,w) = [r] +y+22+sinw,z+y+sinz+ u;z]

Notice that f(1,1,0,0) = (2,2). Let g be the implicit function given by the implicit func-
tion theorem in a neighbourhood U/ of (1, 1) such that f(z, v, gz, y)) = (2,2), (z,y) € U.
Then the derivative of g at (1, 1) is given by the matrix

Options :

(= 3)
=% 4
682470925.

—1 =

—2 3
682470926.

(2 1)
682470927. =3

= .
=
682470928.
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Maximum of zyz subject to 2% + y? + 22 < 1is

Options:

682470929, °

1

2 /3
682470930, SV 3



682470931. jﬁ

682470932.
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od

Let [” denote the normed linear space of sequences (a,) with ||(a,)||, = Z [

ni=1
for p > 1 and ||(an)| = sup |a,|. Which of the following is NOT a separable space?

nel

Options :
682470033, (-1l II°)
l -\.
682470034, (oIl 1)
682470935, (1l llsc)
((-[_1‘1 ” H}c]'
632470936.
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Correct Marks : 2 Wrong Marks : 0

Which of the following spaces 1s complete?

Options :

(C-” [—1,1,]| |lor) where || fllcr = sup |f(z)]| + sup | f'(z)]
682470937. re[—1.1] z€[-1,1]

(C-” [—1,1], || |~c) where ||Pllo = sup |f(z)]
682470938. re[—1,1]

{P:[-1,1] =+ R: Pisapolynomial, | ||} where|[P|.= sup |[f(z)]
682470939. z€[-1,1]

l 3

(C[=1,11, | |l2) where || fll2= / |f(z)|? dz

682470940. —1

Question Number : 86 Question Id : 682470241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Let (M,(R), d) denote the metric space of all n x n real matrices with d((a;;), (b;;)) =

(Z |ai; — b j|2) (ai;). (bi;) € My(R). Then the set of all n X n invertible matrices
i,j=1

13
Options :

682470941, OPen in M, (R)

682470942 closedin M, (R)



682470943 connected in M, (IR)

c i _"1 !
682470944, compact in M, (R)
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Consider (C[0, 1], d) where do(f,g) = sup sup|f(z) — g(z)|, f,g € C[0,1]. Then the
z€[0,1]

set A = { feco]

f is a differentiable with sup |f(z)|+ sup [f'(z)| < l} is

z€[0,1] ze[0,1]
Options :

632470945, closed in C'[0, 1]

open in C|0, 1]
682470946.

relatively compact in C'[0, 1]
682470947.

not connected in C'[0, 1]
682470948.
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Let (X, ) be a topological space and Y C X. Then which of the following statements 1s
true?

Options :

682470949. If Y is locally path connected. then Y 1s connected

632470950. If Y 1is locally connected. then Y is path connected

If Y i1s connected. then Y is locally connected
682470951.

If Y 1s locally path connected. then Y is locally connected
682470952.
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Consider the following statements.

Si : There exists a topology 71 on R with more than 3 open sets such that every
infinite subset of R 1s connected.

Sy : There exists a topology 5 on R such that only constant sequences are con-
vergent sequences.

Then
Options:
both 5; and S5 are true
682470953.
1S C E'-‘H I. cld:
682470054, Sy 1s true and Ss 1s false

S, 1s false and S5 1s true
682470955.



both S and S5 are false
682470956.
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Conside the following statements
Sy : Let (X;, 7;) be topological spaces for ¢ € A (indexed set). Then the product
topology 1s the smallest topology on H X; such that all canonical projection
. i€A
maps are continuous.

[y
ward

:Let (X,7) be a topological space W C X. Then the mduced sub space
topology 1s the smallest topology such that the identity maps [ : W — X 1s
continuous. Then

Options :

5 C E‘u ar
682470957, POth 51 and S, are true

S 1s S5 1s fals
682470958, 1 18 true and S5 1s false

Sy 1s false and S5 1s true
682470959.

both S; and S5 are false
682470960.
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Suppose f(z) 1s analyticon D = {z : [z| < 3}. If | f(2)
f(20) = f(i) =

Options :

< |f(2—1)| forall z € D. then

682470961, °

682470962,

682470963, 1

682470964,
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Let C' be the circle |z| = 4 positively oriented. Then [ ———dz =
C L
Options :

682470965, T
682470966,
1 +mi

682470967.

682470968.
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o '3
Let C' be the circle |z| = 2 positively ortented. Then [ ”h——'—“ dz =
z

Options:

0
682470969.
682470970,
682470971, 27

—2mi
682470972.
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: 1
Let C' be the simple closed contour. Then =7 | % dz represents
i
i

Options:

682470973, the area of the region enclosed by C

682470974, e lengthof €



682470975, half of the length of C

half of the region enclosded by ('
682470976.
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o e - 1 . .
The number of singularities of f(z) = T mside |z| = 51s
sinh z — i

Options :

682470977, 1

i
682470978,
3
6824709709,
4
682470980.
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Let W be the wronskian of two functions y; and yo. Which of the following statements is
false?

Options :

There exist functions y; and y on an interval [a, b] such that they are linearly inde-

pendent and W(y,,y2) =0
682470981, | W1:3)

There exist functions 1, and y» on an mnterval |a, b| such that W (y,.ys) £ 0
682470982, U1 Y2 [a.b] (Y1, Y2)

If 3y, and y are two independent solutions of y" + P(x)y' + Q(z)y = (. where. P, Q
682470983, e continuous functions then W (y;.15) # 0

If y; and 1, are two independent solutions of 3" + P(x y Q z)y = 0, where. P, )
682470984, polynomials then 4 x; and 24 such that W (y,, 12)(zq) # 0, J1 ya)(zy) =1
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Consider the ordinary differential equation(ODE): (3y* — z) dz + 2y(y* — 3z) dy = 0. It
has an integrating factor of the form ¢(z + y?) then ¢(s) is

Options :

3

—_g"

682470985, ©

—3
682470986. € °

b3 La

682470987.



682470988,
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A solution of 422" — 20zy’ + (35 + 42%)y = 0 is of the form y = uv. Then a choice of

u so that v satisfies v" +v = 0 is

Options :

682470989,

682470990, T
682470991,

682470992.
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: dr : : o
Consider the system — = —2z + 3y + zy, I? — —z+y—22y”. Then (0,0)1sa

dt
Options:

682470903, 10de



Saddle point
682470994,

682470995, - cnire

Spiral
682470996.
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Let y be a nontrivial solution of 3" + (sin2 z+1)y = 0. Then which of the following
statements 1s true?

Options:
y(x) > 0forx >0

682470997.

y(z) < Oforz >0
682470998. "

y has only finite number of zeros for = > ()
682470999.

y has infinitely many zeros for z > 0
6824701000.
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Let my and mj be the roots of the identical equation of the second order ordinary differ-

2 : iy ! ¥ ]' i
ential equation 2%y" + zy + (;T.‘E - I) y = (. then

Options :
| 1 : : .
My, = —, My = —— and there exists only one Frobenius solution
6824701001. 2 2
1 : ; . :
my = 5,Mmy = —g and two Frobenius series solutions exist
6824701002. - =
x = () 1s a regular point for the ODE
6824701003.
one of the solution 1s analystic
6824701004.
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The Lagrangian of a spherical pendulum in spherical polar coordinates is

Options :

Lo BES o ool

—ma” (6~ + sin” #p ) — mga cos f
6824701005, 2

I- ] 2@ W, K . '

5ma (6 + sin” E":;-‘) — mga sin §
6824701006. =

1 G ol
33?1-{12 {HE + cos? 9-;2) — mga cos f
6824701007. ~



l ; 7 . 2
—ma® [H‘? + cos” HL;“J + mga sin #

6824701008, 2
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The transformation ) = ¢” cos(fp) and F = ¢ sin(3p) 1s canonical if

Options :
1 _ i
Gy and 7 =2
6824701009. =
— I} { —
6824701010, @ — 2and =2
_ 1
a=2and f—=—
6824701011, 2
1 |
a=3andd=5
6824701012. o =3
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The Hamiltonian for the Lagrangian L(z, y) = bz ™'y — gy* — ky/2? + 2 is

Options :

6824701013.



6824701015, 9

6824701016.
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- o
Let @ be a solution of / e to(t) dt = 22, Then

o

Options :

?(1) =1land ¢(2) =0
6824701017.

A o
6824701018, (1) =0 and (2) =1
6824701019. @(1l) =1and ¢(2) =1

@(1) =0and ¢(2) =0
6824701020.
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The integral equation ¢(x) + A / cos(z)o(t)dt = f(x) has a solution when

u

Options :
) = cos(3z
6824701021. f(z) = cos(3z)
6824701022, | (¥) = sm(2z)
6824701023. f{__l'jl = T 5111{.]‘_‘-}
fli) = acosiz)
6824701024. ?
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The number of characteristic numbers of the integral equation
= 1

o(x) + A /.f-{;r — Do(t)dt + A /f{;r — Do(t)dt = 01s

0 T

Options :

6824701025.



finite number only
6824701026. =

countably infinite
6824701027.

uncountably mfinite
6824701028.
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The number of extremals belonging to C*[0, 1] for the functional

1

/ [--l:r:F +4z+ () - {‘:r:]Z] dz

1
subject to / [(y:)z — (22 - J'y’} dr=2,9(0)=0,2(0)=0,y(1) =1land z(1) = 1 is

0

Options :

6824701029.

6824701030.

-

6824701031.

L]

6824701032.
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1

Let yp(z) = 2 for z € [0,1]. Then the functional | [y+2 y’:i dz is not continuous at
Y = Yo() 1n the sense of
Options :

zeroth-order proximity

6824701033.

tirst-order proximity
6824701034.

second-order proximity
6824701035.

6824701036. third-order proximity
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Consider the following statements.
S, : If afunctional is continuous at any function in the sense of 2°¢ order proximity
then it will be continuous in the sense of n™ order proximity if n > 2 for

n€N.
So : The functional has an extremum 1f first variation of that functional 1s zero.
Then
Options :
S o
6824701037, POth S1and 5y are true
S d S ar rals
6824701038, 0Oth S1and 5; are false
Sy 18 and 9. i 2
6824701039 S 1s true and Ss is false
Sy 1s false and S5 1s true
6824701040.
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If a range of six times the standard deviation covers at least 18 class intervals. then the
amount of difference made by Sheppard’s correction in the corrected value of

standard deviation in terms of nearest percentage is
Options :

A G
6824701041, 2070

6824701042.



204

3:12
6824701043.

5.21%

Yo
6824701044.
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For a distribution. the mean is 10 and variance 1s 16. y1= +1. then its third non central
moment about origin is
Options :

64
6824701045.

116
6824701046.

1544
6824701047.

a ¥
6824701048. ik
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Let X. Y and Z be the three ponts taken at random on a line segment. Then the
probability that Y lies between X and Z is
Options :

6824701049, 1

1

2
6824701050.

2
6824701051. ~

1

3
6824701052,
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Suppose two persons ‘A’ and ‘B’ decide to flip penmies; the one coming closest to the
wall wins. ‘B’. being the better player. has a probability 0.6 of winning on each flip. If
‘B’ starts with five pennies and ‘A’ with ten. the probability (nearest) that ‘B” will
wipe ‘A’ out is

Options:

6824701053.

6824701054.



0.50

6824701055, 00

6824701056. 0.87
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Let {Xp. 1 = 1} be sequence of square integrable independent random variables with

q
'}

I

3” < O '[hE'Il Ihe sequence 1101(15
e
n=|

Options :

Bernoulli’s SLLN
6824701057.

Kolmogorov SLLN
6824701058. i

Khintchin’s SLLN
6824701059.

Chebychev’s LLN
6824701060.

Question Number : 116 Question Id : 682470271 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Let {Xy. 7 2 1} be sequence of independent random variables follows U [-n. 1]. the

sequence
Options:

does not hold Central limit theorem
6824701061.

holds Central limit theorem
6824701062.

holds converges to Cauchy distribution
6824701063.

holds all modes of convergence
6824701064.
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If Xj and Xy be two independent random variables having the same geometric

distribution. Then the conditional distribution of X1 given X1+ X2 15

Options :

Geometric
6824701065.

Poisson
6824701066.



Uniform
6824701067.

Hyper-Geometric
6824701068.
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Let the random variable X follows standard Cauchy distribution. Then the probability

. . R
density function of X* is

Options :

Beta-I (1.1)
68247010609. s

Beta-II (5.3 )
6824701070.

Exponential
6824701071.

Gamma (1 .1)
6824701072. S
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Let X1 Xy, ... . X be independent random variables with density function P [Xj=k] =1,

i=1.2....N:Ne I Let Y be the maximum order statistic then P [X= 11, Xo= 2. . Xom /Y =3] =

Options :

By | =

6824701073.

6824701074.

6824701075.

6824701076.
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Inn odd samples of size n from UJ0. 1] population. the variance of the distribution of

median are

Options :

b | —

6824701077.

6824701078.



1

12(n—2)
6824701079.

1

4(n+2)
6824701080.
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In simple logistic regression. the /og of ratio of odds. 1.e. log

Options :

o1
6824701081.

efl
6824701082.

P1
6824701083.

Po

6824701084.
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The k™ moment ik when k = 2 (< ) for a t-distribution with " degrees of freedom is

Options :
n—2
n—4
6824701085.
n
1'(3)
6824701086.
Ir+31) TE+r)
L) 11%)
6824701087.
Ir+3) TE-r @)
T[T
6824701088.
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Let y1< y2 < y3 < ys denote order statistics of a random sample of size 4 drawn from a

distribution having probability density function f(x) =2x. 0 <x < 1. Then fly3) =



Options :

41 (2y3)° [1 - 2y3]
68247010809.

A1 (2v3) 1 — (2v3)?
6824701090. ( T [ ( - }]

4! {}”3}5 (1- }-'3,'}‘:"
6824701091.

A1 (y3)° [1 - (y3)]
6824701092.
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Let X1. X2. ... Xp follows 1.1.d. Uniform over [0-1. 6+1] then the maximum likelihood

estimator for 6 1s

Options:
Min{Xj, ... . Xg}
6824701093. '
1¢ r: L1
6824701004, XX Xaj
(X@-1. Xay+1)
6824701095.

( Xm. Xm)
6824701096.
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Let x1. x2. ... xp be an independent random sample of size n drawn from the

population Ax.0) =027 0<x<1.8>0 then the sufficient statistic for 8 is

Options :
X(1)
6824701097.
x(n)
6824701098.
n
X
6824701099,
H
I~
i=1
6824701100.
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If T(x) be a sufficient statistic for 6 and is at least bounded complete and U 1s a

minimal sufficient statistic for 6 then T and U are

Options:



differ with probability unity

6824701101.
differ with probability 1
6824701102.
identical with probability unity
6824701103.
identical with probability & .
6824701104.
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The stationary distribution 7 of two state Markov chain whose transition probability

.o [0 1]

matrix 1s P =

| {].,'
Options:

(1. 0)
6824701105.

(0. 1)
6824701106.

(0.5, 0.5)
6824701107.

(1.1)

6824701108.
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Let us suppose that the probability of a dry day following a rainy day is + and that the

probability of a rainy day following a dry day is . Given that May 1* is dry day. The

probability for May 3% is dry day is

Options :
1
6824701109. °
4
6824701110, *
2
12
6824701111.
7
13
6824701112.
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The lifetime of electric bulbs produced by a new technology is assumed to follow the
exponential distribution with mean 8. A random sample of ‘n’ such bulbs were tested
and the lifetime recorded for the first ‘h” hours only and then stopped. After ‘h’ hours.

‘m’ of the ‘n” bulbs were still burning. Now. the maximum likelihood estimate for 8 1s

Options :
t + hm
6824701113, ™M
t +hm
n+m
6824701114.
t —hm
n—m
6824701115.
mh/n
6824701116.
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If the random variable X follows B(n. p). the sample size (nearest integer) required by
the uniformly most powerful test of size o = 0.05 to achieve its power at least 0.9 for
testing Ho: P < 0.2 against Hi: P> 0.4,

Options :

6824701117.



L]
[—

6824701118.

6824701119.

|

6824701120.
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At the conclusion of the experiment it was found that the new feed gave a 10 kg
bigger gain than the old feed. To test the significance of mcrease of mean weight gain
due to a new feed compared to an old feed. a two sample t-test with the proper one
sided alternative was done and the resulting p-value was 0.082. This means

Options :

there 1s an 8.2 % chance the Ho 1s true
6824701121.

there was only 8.2% chance of observing an increase greater than 10 kg (assuming

6824701122, e Howas frue)

there was only an 8.2% chance of observing an increase greater than 10 kg

(assuming the Ho was false)
6824701123.

6824701124.



there 1s an 8.2% chance the Hi 1s true.
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Let R be the total number of runs in a random arrangement of ‘m” X's and ‘n” Y's

used to test Hp: F(u) = G(u). then [ R=2r/ H] =

Options :
2mn
6824701125, M1
2nn(2nm - m - n)
(m+n)’(m+n-1)
6824701126.
2nm
(m+n)m+n-1)
6824701127.
2 ‘ m- IH n—1 l [(m+n ‘
| or-1) .i'—l_-/ m
6824701128.
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In the usual notations. the test which 1s used to test Ho: H(x, v) = F(x) G(v) against Hi:
H(x. v) # F(x) G(v) 1s

Options:

Mann-Whitney U- test
6824701129.

6824701130, = =5t

Spearmann Rank Correlation test
6824701131.

F- test
6824701132.
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In usual notations, the relationship among the quantities o. . A and B in sequential

probability ratio tests 1s

Options :

A= . and B = i
l-a

6824701133.

1—

Az p and B = i
a l-a

6824701134.

6824701135.



A<

ﬁanclB.i i
a l-w

p and B = p
V) l-a

A=
6824701136.
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Consider a four component serial system of which the components are independent
and 1dentically distributed with exponential. If R(100) = 0.95 15 specified reliability.

then individual component mean time to failure (approximately) s

Options :
128.00
6824701137.
245
6824701138. 2458
7812.5
6824701139. G
5721.6
6824701140.
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The structure function ¢ increasing in each argument has at least one relevant

component if and only if

Options :

6824701141, P(0)=0and §(1) ==
$(0)=-1and ¢(1) =1

6824701142.

6824701143, M0 =0and ¢(1)=1
(0)=1and (1) ==

6824701144. %(0) o(L,
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If (X.Y) follows bi-variate Normal with parameters =3, 12=1. 61°= 16, 62> =25,

P =0.6 then E(Y/X=T) and V(Y/X=7) are

Options :
147 256
25 2 25
6824701145.
6824701146.
I, 25

6824701147.
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6824701148,
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Let X = Zf + & where has full rank r+1 and g is distributed as Ny(0. 621). The

estimate |3 = (Z'2)'Z'X is distributed as
Options :

N(0. 6°1)
6824701149.

Fr+1 nr1df distribution
6824701150.

N(B. 62 1)
6824701151.

N (Pp. a2 (Z'2)H
6824701152.
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If Z;=C/ X and Zy=C; X are the first two principal components then the Cov(Z;. 7)) is



Options :

6824701153, 1

6824701154, Y

C'EC

6824701155.

i
6824701156.

b
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Let Yy, Yy, .... YN be independent random variables, where ‘N’ 1s also a random

variable. Then the expectation of the sum of random numbers of random variables

Options :

6824701157.

6824701158.

6824701159.

6824701160.
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. i v N N, i
A sampler has two strata with relative sizes w; = 5. w2 = 5-. He believes that
variances of the two stratums 1s equal. 1.e. 1551j = Sf. For a given cost C' = Cym + Cym

/

when Ni is large. the ratio ——=
{lp]
Options:
WG+ |
11'1C-1 +1l."l{_"r |
6824701161. g=z |
WGy + 0,0, 1
' — —Y |
{1[‘1 '\.‘IC]_ _11Il-|u'lC2 ] J
6824701162.
I[”‘1 \.-'IIC1 Ty «u"lllf} )_—|
6824701163.

PR
“i\/E +1154/C,

w, G +w, G,

6824701164.
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— : \ ; : . - : :
The coefficients in estimating the quadratic effect of 3- factorial experiment are

Options :
-1.2,1
6824701165.
-2, 1
6824701166.

-1.0
6824701167.

-1.0.1
6824701168.
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Let r = diag (11, 1, ... 1y) denote the replications of v treatments and k = diag (k1. ky. ... ky)
denote the ‘b” block sizes of a general mcomplete block design. then

mformation matrix C of a general incomplete block design in the usual notation is

Options :

N'N - r'Ew

6824701169.

L L—vIN'N
6824701170.



rIv-N'KIN
6824701171.

11';'.~I";'. E v
6824701172. e gly e
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In 2* factorial experiment. the principal blocks of replicates 1. 2 and 3 consist of:
Replicate-1: (1), (ab). (ac), (be). (d). (abd). (acd). (bed).
Replicate-2: (1). (ab). (c). (abe). (ad). (bd). (acd). (bed).
Replicate-3: (1). (a). (bc). (abe). (bd). (abd). (cd). (acd).

The confounded interaction effects in the replicates respectively?

Options :

6824701173. e T

ABC. BCD., ABCD
6824701174.

ABC. ABCD. ABCD
6824701175.

ABC. ABD. BCD
6824701176.
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The determinant of the incidence matrix of a symmetric Balanced Incomplete Block

Design 1s
Options :

+ 1.{ e ,-" j‘.-‘-l
6824701177.

+ri(r-nh ~,1-'—1.-"2
6824701178. = !
o i\ j*.-‘—l-"?
6824701179.
(=)
6824701180.
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An estimate t'y of a linear parametric function 4. 1s said to be “Linear Zero Function” if
Options :
E(t'y)= 0
6824701181.

E(t'y)= A’
6824701182.



E(ty)= B

6824701183.

E(t'y) = A'p
6824701184,
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Let X and Ybe continuous random variables with density function f(x.v). If Z= X+Y

then the density function of the random variable Z 1s

Options :

f -m flx,z—x)xdx
6824701185. )

f ._x fx,z=x)dx
6824701186.

J i flx.z=x) | z|dx
6824701187.

fm f(x,z-x)zdx
6824701188.
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Which one of the following test is used for empirical distribution function

Options:

Wilcoxon sign rank test
68247011809.

Kolmogorov-Smirnov test
6824701190.

Median test
6824701191.

Wald-Wolfowitz run test
6824701192.
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At a particular railway station it is observed that. goods trains arrive at a rate of 30
trains per day. Assuming that the mter arrival time follows an exponential distribution
and the service time distribution is also exponential with an average 36 minutes. The

average number of tramns in the station are

Options :
2
6824701193.
6824701194, 3
4

6824701195.
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An optimum basic feasible solution to the linear programming problem:
Minimize: Z= £X1-3X>
subject to the constraints:

3X1-X2-X323;
X=X+ X322

X1. X9 X3=0

15

Options :

125
6824701197, O

715
6824701198, O

25
6824701199, O

1

6824701200.



